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What do you think will happen to prices over the next year
compared to today?

August 2021

May 2022 March 2023 March 2024
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" Wi” increése alot Wi” increase S"_ghtly m Will increase a lot Will increase slightly B Will increase a lot Will increase slightly B Will increase a lot Will increase slightly
® Will remain more or less unchanged 1 Will decrease slightly m Will remain more or less unchanged = Will decrease slightly B Will remain more or less unchanged = Will decrease slightly B Will remain more or less unchanged = Will decrease slightly

m Will decrease a lot . ) .
B Will decrease a lot m Will decrease a lot u Will decrease a lot
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Suppose that the price of a product that you always buy in
your supermarket goes up by 10%. What would you do?

August 2021
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B Nothing would change. | would continue to buy the same amount of
the same product and brand at the same supermarket as before.

B | would switch to a different supermarket
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May 2022

E

0% 20% 40% 60% 80% 100%

B Nothing would change. | would continue to buy the same amount of
the same product and brand at the same supermarket as before.

B | would switch to a different supermarket
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March 2023

52%
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B Nothing would change. | would continue to buy the same amount of
the same product and brand at the same supermarket as before.

B | would switch to a different supermarket
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March 2024
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B Nothing would change. | would continue to buy the same amount of
the same product and brand at the same supermarket as before.

M | would switch to a different supermarket



What do you think your income (e.g., salary) will be in one
year's time?

May 2022 I\/Iarch 2023 I\/Iarch 2024
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60% 60% 60%

50% 50% 50%
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H Will have increased Will have somewhat increased ® Will have increased Will have somewhat increased ® Will have increased Will have somewhat increased
B No change Will have somewhat decreased W No change Will have somewhat decreased W No change Will have somewhat decreased
m Will have decreased ® Will have decreased ® Will have decreased
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How do you think prices have changed compared to a year ago? "Prices" here refers to the
prices overall of various items that you buy, including food, clothing, daily necessities,
household appliances, automobiles, eating out, travel, electricity, gas, water, education, and
medical expenses. (Please choose one answer.)

1. Have increased a lot
Have increased slightly
Are more or less unchanged
Have decreased slightly
Have decreased a lot
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What is your answer to Question 1 based on? From the following, please choose three
answers in the order that they apply.
1. Based on the prices of items | buy on a daily basis (food, daily necessities, clothes,
etc.)
Based on the prices of items | buy occasionally (e.g., home appliances, cars)
Based on the cost of eating out (prices at restaurants, etc.)
Based on energy prices (gasoline prices, electricity and gas prices, etc.)
Based on rent
Based on education expenses (tuition fees, cram school fees, etc.)
Based on transportation and communication expenses
Based on medical expenses
Other (please fill in)
None in particular
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What do you think will happen to prices in over the next year compared to today? (Please
choose one answer.)
1. Will increase a lot
Will increase slightly
Will remain more or less unchanged
Will decrease slightly
Will decrease a lot
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Suppose that the price of a product that you always buy in your supermarket (e.g., chocolate
from company A, beer from company B, shampoo from company C) goes up by 10%. What
would you do? For each of the following, please answer with "Completely applies,"
"Applies," "Does not really apply," or "Does not apply at all."

1. Nothing would change. | would continue to buy the same amount of the same
product and brand at the same supermarket as before.

2. I would continue to buy the same product and brand at the same supermarket.
However, | would save money by buying smaller quantities or buying the product
less often.

3. | would continue to buy the product at the same supermarket. However, | would
switch to a slightly lower quality but less expensive brand.

4, I would stop buying the product at that supermarket. Instead, | would look for
another supermarket that sells the same product and brand but did not raise the
price.

5. | would not go to that supermarket at all in the future because such a price increase
would be unacceptable.

6. I would inform my friends and acquaintances about the price increase in that
supermarket.

7. | would post about the price increase on social media.

5. Suppose that the price of a product that you always buy in your supermarket (e.g.,
chocolate from company A, beer from company B, or shampoo from company C)
falls by 10%. What would you do? For each of the following, please answer with
"Completely applies, "Applies," "Does not really apply," or "Does not apply at all."

1. Nothing would change. | would continue to buy the same amount of the
same product and brand at the same supermarket as before.

2. | would buy larger quantities of the product or buy it more often at the
supermarket.

3. I would buy products that | used to buy elsewhere from this

supermarket. | would increase the total amount of purchases | make at
this supermarket.

4. | would inform my friends and acquaintances about the price decrease
in that supermarket.
5. | would post about the price decrease on social media.
6. How has your income (e.g., salary) changed compared to one year ago?
1. It has increased.
2. It has somewhat increased
3. No change
4. It has somewhat decreased
5. It has decreased
7. What do you think your income (e.g., salary) will be in one year's time?
1. It will have increased
2. It will have somewhat increased
3. No change
4. It will have somewhat decreased
5. It will have decreased
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